SKU# 100 748 9799
Model# FRN-801820-B

HAMPTON BAY.

USE AND CARE GUIDE

WOODFORD BISTRO SET

Questions, problems, missing parts? Before returning to the store,
call Hampton Bay Customer Service
8 a.m. - 7 p.m., EST, Monday — Friday, 9 a.m. — 6 p.m., EST, Saturday
1-855-HD-HAMPTON

HAMPTONBAY.COM

THANK YOU
We appreciate the trust and confidence you have placed in Hampton Bay through the purchase of this bistro set. We strive to continually create
quality products designed to enhance your home. Visit us online to see our full line of products available for your home improvement needs.
Thank you for choosing Hampton Bay!



Table of Contents |

Safety Information ....................ccoiiiiiin, 2
Warranty . ........coiiii it i i st i s i 2
Pre-assembly . ...........cciiiiiiii it i 3-4

Important Safety Information |

Hardware Included ..................... ... 3
PackageContents .................coiiiviiiinn.. 4
TableAssembly ................cc i, 5
ChairAssembly ...........ccoiiiiiiiiiiinnn 6-8
CareandCleaning ............cvovevvvnnrrrnnnernnns 9

READ ALL INSTRUCTIONS BEFORE USE

To reduce the risk of injury to persons:

1. Close supervision is necessary when this furnishing is used by or
near children, or disabled persons, if applicable.

2. Use this furnishing only for its intended use as described in
these instructions. Do not use attachments not recommended by
the manufacturer.

SAVE THESE INSTRUCTIONS.

Due to the expansion and contraction of the wood caused by weather,
we recommend re-tightening all of the hardware two weeks after
assembly. Periodic checking of all connections and

hardware is also advised.

Warranty |

DANGER: Keep children out of the assembly area during
assembly.

CAUTION: DO NOT use pressure cleaning machines when
cleaning your furniture or you will damage the structure of
the wood.

CAUTION: DO NOT place hot objects directly on the wood
surface to prevent damage to the wood.

CAUTION: DO NOT use sharp equipment such as a knife
and scissors when removing the protective material as it
may damage product.

> BB b P

WARNING: Do not stand on this chair.

TWO YEAR LIMITED WARRANTY
WHAT IS COVERED

The frame is warranted to be free of manufacturing defects for two years from the purchase date. If the frame of your furniture fails (ie.
broken frame or weld) within 2 years of ownership, Hampton Bay will repair, provide replacement parts, or replace the product at our
option. Frame finishes are warranted against blistering, cracking, or peeling for 2 years from purchase date. This is a residential use
warranty only. Warranty is void when product is used for commercial settings. This warranty is a limited warranty and applies to the original

purchase only. Proof of purchase is required.

Contact the Customer Service Team at 1-855-HD-HAMPTON or visit www.HAMPTONBAY.com.




Pre-assembly

PLANNING ASSEMBLY

Before beginning the assembly of this product, make sure all parts are present. Compare parts with Package Contents and Hardware
Included lists. If any part is missing or damaged, do not attempt to assemble the product, and return it to the place of purchase.

Assembly requires two people.

HARDWARE INCLUDED

@ NOTE: Hardware not shown to actual size.

AA BB CC DD
9
. b (o)
EE FF GG JJ
5} @))I)»)»)»»»» @
KK
Part | Description Quantity
AA Nut 8
BB Washer 8
CC Wrench 1
DD Bolt M6x50 2
EE Allen Key 2
FF Screw M6x40 16
GG Bolt M6x80 8
JJ Cap Nut M6 8
KK Cap 16
3 HAMPTONBAY.COM

Please contact 1-855-HD-HAMPTON for further assistance.



Pre-assembly (continued)

PACKAGE CONTENTS

222222222

e
(7]

-]
(=]

=
2lelE|le| 8
[72}

S35
aaaaaaaaa
SlEE S alalalal3

©




Table Assembly

Attaching the Legs to the Table To the
Table Top

o Place all parts on a flat, clean surface.

o Attach the Table Legs (B) to the Table Top (A) by using the
Nut (AA), Washers (BB), then use the Wrench (CC) to secure.

2 Completing the Assembly

o Turn the table right side up and place on a flat surface.
Adjust the plastic leveling feet if the four legs are not level.

o The table is ready to use now.




Chair Assembly

1 Attaching Left Arm to the Chair
Backrest Frame

o Place all parts on a flat, clean surface.

o Attach the Left Arm (F) and Connect Bar (M) to the
Backrest Frame (K) by using the Bolt M6x50 (DD), Cap Nut
M6 (JJ), Bolt M6x80 (GG), Screw M6x40 (FF) and Allen Key
(EE), then use the Allen Key to secure.

o Do not fully tighten all the bolts in this step.

2 Attaching Right Arm to the Chair
Backrest Frame

o Attach the Right arm (E) and Seat Frame (L) to the
Backrest Frame (K), by using the Bolt M6x50 (DD), Cap Nut
M6 (JJ), Bolt M6x80 (GG), and Allen Key (EE).

o Do not fully tighten all the bolts in this step.

6 HAMPTONBAY.COM
Please contact 1-855-HD-HAMPTON for further assistance.



Chair Assembly (continued)

3 Tightening Backrest Frame

o Tighten Backrest Frame (K) with Screw M6x40 (FF) and
Allen Key (EE).

4 Tightening Seat Frame

o Tighten Seat Frame (L) with Screw M6x40 (FF) and Allen Key
(EE). Then fully tighten all the bolts on this chair.
o Use Cap (KK) to cover all exposed bolts.




Chair Assembly (continued)

5 Completing the Assembly

o Place the chair on a flat surface and put Seat Cushion (J)
and Back Cushion (1) on the chair.

o Now the chair is ready to use.

8 HAMPTONBAY.COM
Please contact 1-855-HD-HAMPTON for further assistance.



Care and Cleaning

]

Always make certain to cover your outdoor wood furniture with waterproof covers when you are not using it. Using covers will protect your
furniture from all weather elements and prolong the life of the wood furniture. Do not use plastic covers to protect your furniture as this
may cause mold to grow on your furniture.

This furniture has been treated with a PU (polyurethane) protectant during production; however, all timber surfaces will change color and
may become rough over time. Since the wood used is a natural resource, you may find color variations with each piece. New furniture will
initially vary in color from items that have been previously purchased.

Please re-oil the wood every 12 weeks or whenever the wood appears to be dry to retain a good level of protection. We recommend using
a boiled linseed oil. Please follow the product instructions carefully when using this product on your furniture set. Regular oiling will
minimize cracking but won’t eliminate it. Cracking of the timber does not affect the durability of the product.

When cleaning the cushions, use a mild soap and water mixture (D0 NOT USE BLEACH) and gently rub the surface of the fabric and rinse
with water. Allow time for cushions to dry before use. Always cover your cushions with waterproof covers when you are not using it to
prolong the life of the cushions.

When moving the furniture, DO NOT drag pieces as this may cause damage to the wood joints and cause cracking or splintering of the
wood.




HAMPTON BAY

Questions, problems, missing parts? Before returning to the store,
call Hampton Bay Customer Service
8 a.m. - 7 p.m,, EST, Monday-Friday, 9 a.m. - 6 p.m., EST, Saturday
1-855-HD-HAMPTON

HAMPTONBAY.COM

Retain this manual for future use.

For certification use only

Factory table ID # HUC32451
Factory chair ID # HUC39240




